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We'll begin with Rashi’'s summary of the Machlokes of 27
R2pY and "ov 2.

According to P52 3w :RpY 127 is derived from

RPY? 12102 TR 521910 58 0An 5197 7R 071057 591 -

The y7w, an IRMLT 28, makes the 071755 a PRI, which
makes the food aw.

o2 wbw is derived from Yitmoh Yetamei.

N2 wSw and NP2 WHY are obviously included, no 5p
Imm needed.

wTpa s derived from

WP W31 - 5IR? RY RV 32 v TWR Twam which touches any
RNV - even a WY - may not be eaten - hence a va.
According to oy 27

Poinanw is derived from Xv? 19102 WK 1 - as it is according
to RpY 1.

However, according to *ov '27 there is no pP>na w5, because

he does not Darshen Yitmoh Yetamei. Therefore,

1702 wYw must be derived from a i 5p.

w1 WY is derived from

598 R R1V 922 VY TR WA -

because, according to R’ Yosi, v 531 is referring to a .
wTp2 Y27 is derived from a m Sp.

Now, according to X2’pY *17, the scenario of TP Y17 is
simple:

PV - an ARPIVA IR

"S- a pwRa

SR - a "W

rpwn - awbw

59X - 227 - all RNPINT,

because, R’ Akiva holds R IRT DI0R RDOY PRWHL DRIV -
and we also avoid the issue of 521X XL YR PR.
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However, according to R’ Y osi, several issues need to be
addressed.

First - How did the ppwn - a wbw make the YoX - a a7,
according to R’ Y osi who holds 0nx 8nob ppwn nmv

1312772 Says Rashi;

133972 ROR 715 IMown RS 31739 50705 R -

WP Y17, indeed, can only occur 13277,

Second - We derived wmipa wbw from the Posuk 11 3wany -
From what type of 3w did this 7w become a *w>v, that it
would be X IRTH RHV?

It cannot be Ppwn, because R’ Y osi holds Xnob ppwn nrmv
13277 DINR?

It cannot be an 521X, because S2IR XL YN PR?

Therefore, we must say that indeed both the 3w and the "wbw
were an Y28, and R’ Yosi holds

DWTPA 12 RIPI TV IR -

In owTp, we can have an 5318 RV YN,

Third - Since R’ Yosi does not Darshen Yitmoh Y etamei,
from where do we derive

RIPNRTD DINR RO HDIIN?

We must say, from the Posuk

N1 RPO 15V nYaim Yon » Sy o 0 -

From which the Gemara on X"y 7" q7 taught

RV 712 RIPI WY PRIRDY N7 - from which we can infer that it
IS onx Rpwn which are not 72 X3P,

Based on the above we can understand that which X217 said;
RI’PY 127 9200V 11K

PO 7272 920 RPY 727 RO

»01 727 cannot hold like X2py »a7 that Poma wbw nww 1w,
Since "ov 111 teaches that we derive N2 wbw and "»a7
wTpa from a WM 5 - if there was 902 wbw, each respec-
tive 9mm Yp should teach that there is 70227 and "wnn

wNpa?

However,
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For the same reason X2°py 27 cannot hold like "oy »17 that we
use the 9m 5p. Rather X2py *271 holds that each 9mm 5p has
ar>7o - a distinction which questions the reasoning of the 5p
A

The Gemara cites a mwn that is attributed to X2°py °27 that
clearly states that nxm© only goes up to 7IN2 wHw and
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This mwn we just attributed to X2pY °27 also says;
N5 RS YAR WTIPS 1910w 10 9381 90 -
All foods in a "9 become Rnv when one of them contracts

RmY, even though they are not touching each other, because

the '3 combines them Halachically to be considered as one.
This Halachah applies to w T only, but not to 7m17n.

13277 PR 9207 RIOOX -

131 227 holds that 9193 is only 132770,

ROPIIRT PP WORT PIN 2T RPHOI -

1In>27 holds that it’'s Rn»WRT» - derived from the Posuk
NI0R IROH 27 7IWY PR 93 - which indicates

AR 922w 71 92 7w 210971 -

Everything in the ladle is considered to be one unit.

The Gemara continues:

In nr7v noon we have another teaching of ©3757 o RyIN:
RPO JWIAT M0 DT PIOTIW TWIA2 NRIMIW VNN SV DN N
MV 537 WD NRXMI -

Ifa Xpv needle is found in the meat of a Shechted j29p, the
knife used for cutting and the hands of the person are 11V,
but the meat is Xnv. If, however, the x»nv needle is found in
the animal’s excrement, everything is 9170,
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R2’pY 7 comments;

WIPHA DT NIRPIV PRY VT -

We are fortunate that the 12297 nNv of hands becoming a v
RS does not apply in the wIpHA 13, thereby saving many
117 from becoming RV!

However, from the mwn saying that the knife is 1170 we
should also say that wipna 095 NRL PR - the 13277 IRMIV on
oY when they come into contact with a pwri Ipwn, does not
apply in the wTpn M2 either!

The X2 gives two answers:

First, 3w 050 0 07p o7 - the 77 of kML on hands
was made before the 771 of XV on 053 that touch a pw»
pwra. Therefore, when X2'py 1 originally mentioned that
there is no 7 NRMW in the WIpn, the very concept of NRMV
oo did not exist yet. The X rejects this answer because
we know that all 927 ™ - the 18 M7’ mentioned in the
beginning of naw naon, which include both o7 NV and
oY NN, were made in a single day.

Rather, the knife would not have become Xi»v in this case
even if it were P21 because it never touched a liquid, and it
cannot become Xnv from the meat or the needle, because 05>
cannot become Xnv from food, nor from other 0’53 that are a
DORT.

PINTAY R VMR -

What nxmiv is it that we are assuming for this needle to say
that the meat is XV?

The x i offers three possibilities:

First, onn poo -

tIt was a needle that we were not sure if it was X»v or 170,
The x) rejects this possibility because the 13127 were not 13
on ARMY POL in DSV,

Based on two corresponding niwn the Gemara says:
o5WUIPAw PRI PO SV 1A RY -

Unidentified saliva in ©>w1v is considered 7m0 even if
found in a place known to have had a a1 pass through.
o5WIPaw 097 OO Y 1A RY -

Unidentified o9 in @bwiv are considered mnv, except those
found in

12200 2% 77 797 - on the path leading TO the Mikvabh, or
in

R0 - the small alleyways in the Mikvah area.
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Second, nn rnv VAR -
The needle of a person who had touched a dead body, who is
an aRPILI IR,

The Gemara asks; if so, the knife and the hands should
become xnv as well, because the needle is also an IRMVT IR
based on the principle of 551> X177 797 290 - a metal object
becomes just as 8Xnv as the item it became x»v from?

The Gemara answers that the 77ty is considered a 0’217 mwy,
and

TNV IPOD D277 MW IRMV OO - in a public place it is
assumed to be inv.

The Gemara asks; even if the 77t» was considered a mwa
71 where generally

RV IPO0 T MYIAIRMY POO - in a private place we
assume it to be XV, in this case it should be assumed to be
P10 because the needle is a

SRWS NYT12 PRY 937 -

Since we learn the rules of nxm Pov from the case of a VIO,
they only apply if the item in doubt has intelligence like a
101D, but when the item cannot respond to questions we
assume MY POO even in a TR MY,

The Gemara answers;

DR 72 R27 IRMI po© - Ifthe IRML POO came about as a
result of a person’s actions, even if the item itself is
inanimate, we treat it as something that is 5xw> ny712 v, and
it therefore follows the normal rules of 7 Mmwa2 NRML POO
RPV P90,
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Third possibility - par 92701 "7 explains that the cow was

muzzled since entering 05wy, and it must have swallowed
the needle before entering 05wy where the Chachamim 5
were 1 on 090 Pov. 3’—‘1
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